

Exercises sphere of a ball  
mechanical engineering

18/10/2019

$$y = e^{2x}$$

$$y' = (2x+1)e^{2x}$$

$$y'' = 2e^{2x} + (2x+1)(2e^{2x})$$

$$y''' = 2e^{2x} + (2x+1)2e^{2x}$$

$$\therefore y'(2x+1) + 2y$$

$$= (2x+1)e^{2x} + (2x+1)2e^{2x}$$

$$= (2x+1)e^{2x} + 2e^{2x}$$

$$\text{but } y' = 2e^{2x} + (2x+1)2e^{2x}$$

$$\therefore y'' = y'(2x+1) + 2y$$

for the above equation

part A,

$$A = 2y'', \quad A' = y''', \quad A'' = y''''$$

part B

$$B = y'(2x+1)$$

$$u = y', \quad u' = y''$$

$$v = 2x+1$$

$$v' = 2$$

$$v'' = 0$$

$$\therefore B'' = (y'''')(2x+1) + 2y''(2)$$

$$B'' = (2x+1)y'''' + 2y''$$

part C

$$C = 2y$$

$$C' = 2y'$$

$$\therefore A'' = B'' + C''$$

$$y'''' = (2x+1)y'''' + 2y'' + 2y''$$

$$y'''' = (2x+1)y'''' + 2y''(2)$$

$$\therefore y'''' = (2x+1)y'''' + 2(2+1)y''$$

for part B,

$$B = x^2 y^2$$

$$u = y^2, \quad u_n = y^{2n+1}$$

$$v = x^2, \quad v^2 = 1$$

$$B^n = y^{2n+2} x^2 + n(y^{2n}) \cdot 1 \text{ to } \\ = x^2 y^{2n+2} + n y^{2n}$$

for part C

$$C = y$$

$$C^n = y^n$$

$$\therefore A^n + B^n + C^n = 0$$

$$\Rightarrow x^2 y^{2n+2} + 2x^2 n y^{2n+1} + (n^2 - n) y^n +$$

$$n y^{n-1} + n y^n + y^n = 0$$

$$\Rightarrow x^2 y^{2n+2} + 2x^2 n y^{2n+1} + (n^2 - n + n) y^n + y^n = 0$$

$$\therefore x^2 y^{2n+2} + (2n+1) x^2 y^{2n+1} + (n^2 + 1) y^n = 0$$

$$2) \quad y = x^2 e^{ax} \quad \text{to } y^5$$

let  $u = e^{ax}$ ,  $u' = ae^{ax}$ ,  $u'' = a^2 e^{ax}$   
 $v = x^2$ ,  $v' = 2x$ ,  $v'' = 2$ ,  $v''' = 0$

By Leibnitz theorem

$$y^5 = 4^5 e^{ax} \cdot 2^3 + n \cdot 4^{n-1} e^{ax} \cdot 3x^2 + \frac{n(n-1)}{2!} \cdot 4^{n-2} e^{ax} \cdot 6$$

$$y^5 = 4^5 e^{ax} \cdot 2^3 + 3x^2 n \cdot 4^{n-1} e^{ax} + \frac{n(n-1)}{2!} \cdot 4^{n-2} e^{ax} \cdot 6$$

$$y^5 = 4^5 e^{ax} \cdot 2^3 + 3x^2 (5) \cdot 4^4 e^{ax} + \frac{3(5)(4)}{2} \cdot 4^3 e^{ax}$$

$$y^5 = 1024 e^{ax} \cdot 2^3 + 5840 e^{ax} \cdot x^2 + 3840 e^{ax}$$

$$y^5 = 64 e^{ax} (16x^3 + 60x^2 + 60x + 15)$$

ii)  $x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$  showing that  $x^2 y^{(n+2)} + (n+1)x y^{(n+1)} + n^2 y^{(n)} = 0$

for part A

$$A = x^2 y''$$

$$u = y'' + u' = y^{(n+2)}$$

$$v = x^2, \quad v' = 2x, \quad v'' = 2, \quad v''' = 0$$

$$A = (y^{(n+2)})x^2 + n(y^{(n+1)})2x + \frac{n(n-1)}{2!}(y^{(n)}) \cdot 2$$

to

$$A^n = x^2 y^{(n+2)} + 2x n y^{(n+1)} + n(n-1) y^n$$